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200 1238
1000 6.190 6190
4952
1238
- _ 6 190
3.
" ” 10_6
10—6
200x 4
30 2020 2020
2000 | 280 2280
100 | 200 | 400 | 1000 | 30 | 1730
4952 4952
2020 | 2000 | 280 | 100 | 200 | 5352 | 1000 | 30 |10982
2020 5352 10982
— —_— 10982
10982
4.

10—7
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10—7
55 550 55 550
11 400 11 400
15000 15000
10982 10982
70 550 11400 10982 92932
92 932
70.55 11.40 10.982 92.932
S 92 932
—_— — 92 932

10—2
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200x 12 10—8
10—8
500 50 7 500
200 20 2500
10 000
1
1 10—9
10—9
200x 12
2% 1%
20000 400 20 400
10000 200 10 200
3000 60 3060
500 5 505
1000 20 1020
400 4 404
200 4 204
34 200 684 34 884 900 9 909
— 20 000
— 10 000
3000

1000
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12
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200
34 200
500
400
900
400
200
65
24

684

5000

0.50

2500

2500

0.50

1250

600

0.50

300

1000

0.50

500

500

0.50

250

9600

0.50

4800

10—11

2500
1250
300
500
250
4 800
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10—11
200 x 12

7500

15000

2500

5000

10 000

20000

1000

2000

1500

24 500

4 10—12

10—12
200x 12

15000
5000
1000
2000
1500

24,500

15000

14%

2100

5000

14%

700

1000

14%

140

2000

14%

280

1500

14%

210

24 500

14%

3430

2100
700
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140
- S 280
210
3430
5 10—13
10—13
200x 12
1500
500
300
2300
1500
- S 500
300
2300
6
10—14
200 x 12
500 300 500
200 100
120
700 400 500 120
800

300
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1100
500
120
620
7 10—15
10—15
200 x 12
520 800 700 300 2320
200 100 200 100 600
700 500 100 100 1400
1420 1400 1000 500 4320
2320
—_— — 600
1400
4320
2. 10—16
10—17
10—16
200x 12
12|31 1020 | 404 1424
500 500
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2000 2000
280 280
500 500
100 200 300
200 | 100 | 200 | 100 | 600
1020 | 504 | 500 | 2000 | 280 | 500 | 200 | 200 | 100 | 200 | 100 | 5604
10—17
200 x 12
300 5.604 1681.20
300 5.604 1681.20
400 5.604 2241.60
1000 5. 604 5604
1681.20
1681.20
2241.60
— — 5604
3.
" ” 10_18

“ ” 10_19
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10—19
200x 12
7500 1.18062 8854.65
2500 1.18062 2951.55
10 000 1.18062 11 806. 20
e o 8854.65
_ 2951.55
11 806. 20
4.
12
50%
10—20 10—21
10—20
200x 12 500
12 |31 1850 2325 | 325.50 | 1645.35 | 6145.85
20 400 20 400
2500 2500
15 000 15 000
2100 2100
8854.65 | 8854.65
24750 | 17325 |2425.50 |10500  [55000.50
550 525 | 525 525
45 33 4.62 20 102. 62
22500 | 16500 |2310 10000  |51310
2250 825 | 115.50 | 500 3690. 50
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10—21
200x 12 200

12 | 31 1750 880 123.50 | 1248.45 | 4001.95

10 200 10 200

1250 1250

5000 5000

700 700
2951.55 | 2951.55
13200 5880 823.50 | 4200 24 103.50

220 210 210 210

60 28 3.92 20 111.92

12000 5600 784 4000 22 384
1200 280 39.50 200 1719.50

10—20
=500 +50 x100% =550
=500 +50 x50% =525
10—21
=200 +20 x100% =220
=200 +20 x50% =210
5. 10—22
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10—22
200 x 12

22 500 45 12 000 60 34 500
16 500 33 5600 28 22 100
2310 4. 62 784 3.92 3094
10 000 20 4000 20 14 000
51 310 102. 62 22 384 111.92 73694

S 51 310

S 22384
_ S 51 310
— 22 384
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11—1

X X X

#301

F—46382
20x x 8 10
4
20x x 8 12 20x x 11 12
46 53 84

11—1
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11—1
4
1
401 o 8 2
411 _ 20 12 8
421 _ 16 5
2
11—
1—1
401 26 240 28 800 14 560 7120 76 720
411 25720 20560 11 740 7780 65 800
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11—
2
11—2
401 — 12 600 11920 3880 28400
411 — 7640 12 240 5460 25340
421 18720 16 360 11480 6020 52 580
411
70%
421
1100
900 620 330 2950
113 11—4
11—5
113
401 8 2
8
26 240 28800 14 560 7120 76 720
12 600 11920 3880 28 400
26 240 41 400 26 480 11000 105 120
126 240 141 400| 26 480 11 000 105 120
3280 5175 3310 1375 13140
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11—4
411 20 3
12
25720 20560 11740 7780 65 800
7640 12 240 5460 25340
25720 28200 23980 | 13240 91 140
15 432 119227.24| | [16350] 9027.24| | [60036.48
1286 1602.27 1362.50|  752.27 5003. 04
10288 8972.76 7630 4212.76 31103.52
25720
ig =128
_ 28200 _
= o rgx700 = 160227
_ 23980 _
=10 s8 x 709 = 136250
_ 13240 _
S +gx700% 2%
115
421 16 4
4
18720 16 360 11480 6020 52 580
1100 900 620 330 2950
4 4400 3600 2480 1320| 12 800
14320 12760 9000 4700 40780

11—6
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11—6
x 4
8 12 4
26 240 3280 | 15432 1286 4 400 1100
41 400 5175 | 19227.24 | 1602.27 3600 900
26 480 3310 | 16350 1362.50 2480 620
11 000 1375 9027.24 | 752.27 1320 330
105 120 13140 | 60036.48 | 5003.04 | 11800 2950
1.
1
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4
11—7

11—7

101 A 20 1 4 30

102 10 8 5

103 C 15 2

102 800 200
50 100 102
11—8 11—9 11—10 11—11
118
X X 4

1 15900 800 4800 580 22080
o 4 12460 | 1200 5000 620 19 280
30 28360 | 2000 9800 | 1200 41360
30 — 4.90 0.60
30 [16900] | [1500] 5 900 850 25150
30 11 460 500 3900 350 15710

9800 _
1 =5 000 -4
1200 _
2 5000 =0- 60
3
101 A

102
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11—9
101 20 1
A 20 4 30
28 6 800 200
31 5300 | 400
30 800 400
30 1000 | 4.90 | 0.60
30 4900 600
30 12900 | 1000 | 4900 600 | 18400
30 [12900] | [1000] | [4900]
30 645 245 30 920
11—10
102 10 3 8
B 5
31 3800 200 3800
30 2860 500 2860
4000 250 5250
2660 200
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11—-11
103 15

30

8800

300

8800
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12—1



BoPR

PR

12—1

- 201-

# A, |mT e | | wra
=y rpst A |57 B A&
|
1
romek | (mr | [ems | [ e
2 b A #HH B A B A&
— R Dy —
tpmik | [mr Pt |, | e
e # A A
12—1
50%
12-1 12-2

12—
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12—
8 24 40
200 176 160
176 160 184
32 40 16
12—2
1000 82 118 1200
4 256 392 508 5 156
10 060 800 1200 12 060
1000 14 316 1274 1826 18 416
12—3
23968 3662 5546 33168
5368 7052 12 420
7072 10704 17776
23960 16 102 23302 63 364
12—4 12—5 12—6
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12—4
176
32
50%
1000 82 118 1200
23960 23960
3662 5546 9208
24.960 3744 5664 34368
120 19.50 29.50 169
21120 3432 5192 129 744
3840 312 472 4624
12—5
160
40
50%
4256 392 508 5156
5368 7052 12420
29744 29744
34000 5760 7560 47320
170 32 42 244
27 200 5120 6 720| 39 040
6 800 640 840 8280
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12—6
184
16
50%
10 060 800 1200 12 060
7072 10704 17 776
39040 39040
49 100 7872 11904 68 876
245. 50 41 62 348.50
45172 |7 544| |11 408 64 124|
3928 328 496 4752
12—4
24960 _
T176+32 120
_ 3744 _
T 176 +32 x50% 19.50
_ 5 664 _
7176 +32 x50% =29.50
12—4
=176 x 120 =21 120
=176 x19.50 =3 432
=176 x29.50 =5 192
12—5
34000 _
160 +40 170
_ 5760 _
" 160 +40 x50% =3
7 560 —a»

T160 +40 x50%
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=160 x 170 =27 200
=160 x32 =5 120
=160 x42 =6 720
12—6

_ 49100
184 +16

=245.50

_ 7872 _
7184 +16 x50% =41

_ 11904 _,
184 +16 x50%

12—6

=184 x245.50 =45 172
=184 x41 =7544
=184 x62 =11 408
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12— 12—7
12—7
©) 45172 7544 11 408 64124
@ 27 200 5120 6720
_ 39040 39040 39040 1
- =0.70 =0.13 =0.17
©) 45172 x 45172 x | 45172 %
-45172| 0.70= 0.13= 0.17= 45172
31620.40 5872.36 | 7679.24
@ 21120 3432 5192
_ 29 744 29744 29 744 1
- =0.71 =0.12 =0.17
® 31620.40 | 31620.40 | 31620.40
-31620.40, x0.71= | x0.12= | x0.17= |31620.40
22450.48 | 3794.45 | 5375.47
© 22450.48 | 17210.81 | 24462.21 | 64124
O +® +®
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12—1 1238
12—8
@ 45172 7544 11408 64 124
@ 27 200 5120 6720 39 040
®
1.1571 31473.12 5924.35 | 7774.53 | 45172
@ 21120 3432 5192 29744
®
1.0581 22347.07 | 3631.40 | 5494.65 |31473.12
©
22347.07 |17099.75 |24677.18 |64 124
O+B3+B
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12—2
12—9 1210

12—9
160
40
50%
2526 1030 1600 5156
5368 7052 12 420
21120 3432 5192 29744
23646 9830 13844 47 320
118.23 54.61 76.91 249.75
18916.80|| [8737.60| [12305.60]| [39 960
4729.20| 1092.40| 1538.40| 7360
12—9
_2526+21120 _
= 1e0+a0 11823
_1030+5368 +3432 _
=160 +40x50% o+O!
_1600+7052+5192 _
=T 160+40x50% o9
12—9

=160 x 118. 23 =18 916. 80
=160 x54. 61 =8 737. 60



=160 x76. 91 =12 305. 60

209-

12—9
=23 646 - 18 916.80 =4 729.20
=9830 - 8737.60 =1 092. 40
=13844 - 12 305.60 =1538.40
12—10
184
16
50%
3650 3450 4960 12 060
7072 10704 17776
18916.80| 8737.60| 12305.60 | 39960
22566.80 | 19259.60 | 27969.60| 69796
112.83 100.31 145. 68 358. 82
20760.72|| [18457.04|| [26805.12|| [66022.88
1806.08 802.56 | 1164.48| 3773.12

12—10
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T A HAE 7= B S s |
BRLW || s s s
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12—3
2
2
50%
200x 8 12—11 12—12
12—11
200x 8
40 100 80
560 250 150
500 300 150 150
100 50 80
12—12
200x 8
23736 6 960 5568 36 264
3157 6 930 10 087
5040 2408 7448
332304 97 440 77 952 507 696
15785 34 650 50435
15120 7224 22344

12—12
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12—13 1214 12—15
12—16
12—13
200x 8 150

23736 6 960 5568 36 264

332304 97 440 77 952 507 696

356 040 104 400 83520 543 960

317.89 97.57 78.06 493.52
190734 58 542 46 836 296 112
165 306 45 858 36 684 247 848
12—14
200x 8 150
3157 6930 10 087
15785 34 650 50 435
18 942 41580 60 522
39.06 85.73 124.79
11718 25719 37437
7224 15 861 23085
12—15
200x 8 150
5040 2408 7 448
15 120 7224 22344
20 160 9632 29792
106. 11 50. 695 156.80

15 916. 50 7603.50 23520
4243.50 2028.50 6272
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12—16
200x 8 150
190734 58 542 46 836 296 112
11718 25719 37437
15 916. 50 7 603.50 23520
190 734 86 176. 50 80 158. 50 357 069
1271.56 574.51 534.39 2380.46
_ 356 040 _
T 150 x4 +80 x4 +50 x 2 +100 =317.89
_ 104 400 _
7150 x4 +80 x4 +50 x2 +100 x50% =97.57
83 520 =78.06

T150 x4 +80 x4 +50 x 2 + 100 x 50%

=150 x4 x317.89 =190734

=150 x4 x97.57 =58542

=150 x4 x78.06 =46 836

=190 734 + 58 542 +46 836 =296 112

=356 040 - 190 734 =165 306

=104 400 - 58542 =45 858

=83 520 - 46 836 =36 684
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=165 306 +45 858 +36 684 =247 848

1
T150 x2 +8%)8x9;2+ 50 x5006 - 08
T150 x2 +8‘(1)1x5§(-)+ 50 x5006 o> 73
2
=150 x2 x39. 06 =11 718
=150 x 2 x85. 73 =25 719
=11718 +25 719 =37 437
3
=18942- 11718 =7224
=41580 - 25719 =15 861
=7 224 +15 861 =23 085
1
:% =106.11
:% =50. 69
2

=150 x106. 11 =15 916. 50

=150 x50. 69 =7 603. 50
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=15916.50 +7 603. 50 =23 520

=20160 - 15916.50 =4 243.50
=9632 - 7603.50 =2028. 50
=4243.50 +2028.50 =6 272
— 357 069
—_ — 357 069
12—17
12—17
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220 |

13—1
13—1
13—1
1010 6.15 40 246
2020 25 74 1850 4256
=0.8
3030 24 90 2160 5320
— — 4256
1010 48.45 40 1938
2020 32 74 2 368 6916
=1.3
3030 29 90 2610 5320
— — 6916
1010 19 40 760
2020 30 74 2220 5320
=1
3030 26 90 2340 5320
— — 5320
1010 9.5 40 380
2020 15 74 1110 2660
50 =0-5
3030 13 9 1170 5320
— — 2 660
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A 13—2
13—2 A
9 1 83820 27 060 8910 119 790
9 130 106 680 37 000 60 180 203 860
9 130 190 500 64 060 69 090 323 650
9 130 125 320 47 360 49728 222 408
9 |30 65 180 16 700 19 362 101 242
A
16 11
14 5.35 9 4385 600
360 800
A 9 A
13—3
13—3 A
2002 9
X X X X X 65 2 2.1 X X
485 | 0.8 388 16 7760 | 25220 | 15520 | 16 296 | 57 036 | 235. 20
600 | 1.3 780 11 6600 | 50700 | 13200 | 13860 | 77 760 | 259. 20
360 | 1 360 14 5040 | 23400 | 10080 | 10584 | 44064 | 244.80
800 | 0.5 400 5.35| 4280 | 26000 | 8560 | 8988 | 43548 | 108. 87
X X 1928 X 23680 (125320 | 47 360 | 49 728 222 408 X
13—3 A
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125320 _
T 1928 =65

_47360 _

_23680_2

_ 49728

=23680 210

—_— 57 036
— 77760
—_— 44 064
— 43548
e —A 222408
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13—2 ABC A 200
5 C 100 800 000
A 3000 B 7500 C 2 250 A
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13—4

2002 9

200

1 200

400 000

2000

50

2.5 125

250 000

5000

100

0.75 75

150 000

1500

X 400 800 000 2000

800 000

134

13—5

~3000 _
3000

_ 7500 _
'3000'2'5

_2250 _
=3000 =0.75

_ 800000
400

=200 x 2 000 =400 000
=125 x2 000 =250 000
=75 x2 000 =150 000

1

=2000

A 13—5

2002 9

240 000 60%
120 000 30%
40 000 10%

1200
600
200

400 000 100%

2000
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1
13—3 A
B A B
B 3 A
9 A 7000 700 A
B 800 A B
13—6 137
13—6
A
1 47 550 47 550
30 135900 11 000 28000 | 174900
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9 |30 2400 2400
9 |30 181 050 11000 28000 |220 050
9 |30 7000 (140100 11000 28000 |179100
9 |30 20.01 1.57 4 25.58
9 |30 40 950 40 950
13—7
9 1 300 300
9| 30 2400 700 1000 4100
9| 30 2700 700 1000 4400
9| 30 700 2500 700 1000 4200
9| 30 3.57 1 1.43 6
9| 30 200 200
A
B
800 3 2400
13—8
13—8
2002 9
5850 1450 11700 29000
2 20
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A 5500 1400 11 000 28 000
B 350 50 700 1000
5850 1450 11 700 29 000
13—8
11700 _
T 5850 2
29000 _
T 1450 20
2.
B
3.02 0.85 1.20
13—9
13—9
A

9|1 47 550 47 550

9 |30 135 900 11 700 29 000 176 600

9 |30 183 450 11 700 29 000 224 150

9 |30 B 700 2114 595 840 3549

9 (30| A 181 336 11105 28 160 220 601

9 |30 A 7000 | 140386 11105 28 160 179 651

9 |30 20.05 1.59 4.02 25. 67
9 |30 40 950 40 950
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14—1 142
14—1
6101 A 2002 9
26115 6.8
1 1.5 1.5
2 2.5 4
3 1 5
4 2 7
14—2
6100 C 2002 9
6101 2 13.6 5 68 68 14
6102 5 7 63 63 15
3
68 63 131 32
131 2.10 67.20 4.70 150. 40 348.50
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10 15

143

=500 x4 =2 000
=1900+10-15=1895

1895-2000 x5=-125
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14—3
19021 7.30
C 8231 804
307
2002 9 5 2002 9 15
280 6 274 8
7 0.3 38 35 245 10.5

29 211.70 2.5 0.40 1.00
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14—2 9 A B 24 000
12 000 13 000 A
8 600 B 4 400 30 800
14 000 A 9800 B 4200 A B
_24000 _,
12000
_30800 _
14000 “
A

= 9800x2.2 - 8600x2 =4360

= 4200%x2.2 - 4400x2 =440
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14—3
50
500

= 100 +500 x45 =27 000
=1500
=100 x 50-45 =500
=27 000 +1 500 +500 =29 000

:5 =0.9

=100 x50x 1-0.9 =500

1500

45
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=27 000 +1 500 +500 =29 000

14—4 27 000
1500 - 1%

= 27000+1500 x -1% =-285

=27000 +1500 - 285 =28 215

14—5
1 14—4
14—4
2002 9
12 200 - 640
2000 +170
6 000 +260
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20 200 - 210
2 14—5
14—5
2002 9
0.40 180000 | 72000 | 174000 | 68440 | - 6000 | - 3560
3 14—6
14—6
2002 9
20 000 0.60 12 000 19 666 0.63 12 390 -334 +390
4 14—7
14—7
2002 9
20 000 1.80 36 000 19 666 1.8601 36 580 - 334 +580
S 14—8
14—8
2002 9
12 200 12 000 200
2000 2000 /
6 000 6 000 /
20 200 20 000 200
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15—1
2000
91| 6 1 1500 1500
910 2 1080 1080
9|12 3 800 800
9115 4 700 700
9|20]| 5 30 30
9]130]| 6 3000 3000
9 7 420 420
913 1500 1080 800 450 7830
9o || 8
15—1 2000 9
19 6 1500
1500
1500
2 9 10
1050
1050
1050
39 12 800
800
800
49 15 700

700
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700
380
380
380
3000
3000
3000
420
420
420
7850 ! ?

7850
1500
1050
800
4500
? 15—-1
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2. 2%

1.5%

10.

11.

12.

13.

14.

15.
16.

17.
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50

30

20

10.

20.

21.

15—2

1500

1500

5000
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1500
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5000

10
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15—2
2000
9|15| 1 600 600
9 116| 2 2600 2600
9130| 3 300 300
9 (30| 4 2100 2100
9 13| 5 5700 5700
9 130]| 6 1200 1200
9 13| 7 400 400
9130]| 8 800 800
9130| 9 500 500
9 30| 10 1500 | 1500

30 7500 | 1200 | 2600 | 300 | 2100 | 500 | 1500 | 15700

0| n [7500] | [1200] | [2600)

15—2 2000 9
1 9 15 600
600
600

2 9 16 2000

600

2600
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2600

3 9 30 300
— 300
300
4 9 30 2100
- 2100
2100
59 30 5000
700
— 5000
5000
700
- 700
700
6 9 30
1200
— 1200
1200
79 30 400
— 400
400
8 9 30 800
— 800
800
9 9 30 500
— 500
500

10 9 30 1500
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— 1500
1500
11 9 30 15 700 ”

15700
— 7500
— 1200
— 2600
— 300
— 2100
— 500
— 1500
: ? 15—2
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2000

9 | 3 1 250 250
9 | 8 2 500 500
9 | 18 3 1000 1000
9 | 30 4 700 700
9 | 30 5 800 800
9 | 20 6 200 200
9 | 30 1800 1250 3050
9 | 30 7 1800 11 250| 13050




- 258-

10 000

1000

15—3

9 3

9 8

9 18
9 30
9 30
9 30
9 30

9

700

800

200

3050

250

250
250

9 500
500
10 000

1000
1000

700
700

800
800

3050
1800
1250
15—3
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16—1 2003 8 1
100 20 000 3 400
26 000 6 000

20 000
— 3400
23 400

26 000
20 000
6 000
16—2 100 500
50 000 17% 1000 10%

50 000

50000 x17% +1 000 x 10% 8 600
1000 x90% 900
59 500

50 000
50 000
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16—3 20 000
16 000 7 50 000
= 20000 - 16 000 +20000 =20%

7 =50000x 1-20% =40000

16— 8 60

80 000
150 000
! =40 000
8 =60000x 1-20% =48000

o =150000 - 40000 +48000 =62 000

40 000
40 000

000 9
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16—1
29 000 136 000 16 500
43 600 204 000 34 664
15200 56 000 8544
87 800 396 000 59708
16—2
16—2
X X
1 2 3 4 5 6
1 = =
2 + 3 3 x 4 1 -5
16 500 29000 136 000 10% 13 600 2900
34 664 43 600 204 000 14% 28 560 6 104
8544 15 200 56 000 12% 6720 1824
59 708 87800 396 000 48 880 10 828
16—2
e 13 600
e 28 560
— 6720
— 13600
— 28 560
— 6720
347 120 396 000 - 48 880 =347 120
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12
12 13 ”
1. “ ”
17—1 17—1
17—1
x 5

e 30000 4200 34 200

—_ 20 000 2800 22 800

50 000 7000 57 000

6 000 840 6 840

10 000 1400 11 400
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5000

700

5700

2000

280

2280

73 000

10 220

83 220

17—1

17—2

30000
20000
6 000
10000
5000
2000
73 000
4200
2800

1400
980
10 220
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" 17—2
17—2
X X 5
1% 2%
e 100 000 1000 50 000 1000 152 000
—_ 120 000 1200 110 000 2200 233400
220000 2200 160 000 3200 385 400
15 000 150 15150
5000 50 4000 80 9130
3000 30 3030
243 000 2430 164 000 3280 412710
17—2

152 000
233400
15150
9130
3030
407 000
5710



2
17—3 5
17—3
17—3
x 5
—_— 15000 40 80 3200 30 | 200 | 6000 24 200
— 16 000 50 80 4000 30 | 200 | 6000 26 000
31 000 90 7200 60 12 000 50 200
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2000

20

80

1600

20 | 200 | 4000 7600

33000

110

8800

80 16 000 57 800

17—3

17—4

17—4

24 200
26 000
7600
8 800
16 000
33000

40 000

80 000

40 000
80 000

40 000

80 000

120 000

8010
17 470
10 000

30000 38 010
40 000 12 000 69 470
90000 | 100000

40 000

80 000

35480

40000 | 132000 | 327480

17—4

40 000
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18 000

17—6 5

17—5

80 000
38 010
69 470
100 000
327 480

15 000

15000

18 000
33000

17—5

100

10 000 600 10 600

500 2000 2500

1500 2060 3560
1 000 000 60 000

1 060 000
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800 400000 | 1600000 2000 000
1400000 | 1660000 3060 000
% 15 15
210 000 249 000 459 000
17—5
e 210 000
 — 249 000
_— 459 000
8.
1.
17—7 5 90 000
10 000 4000 6 000

=90000+ 4000+6000 =9 /
=4 000 x9 =36 000
=6 000 x9 =54 000

— 36 000
—_— 54 000
90 000
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17—8
80

17—9
17—6

5

120

= 60000 +

80 x 30 + 120 x 30

=80 x 30 x 10 = 24 000

=120 x 30 x 10 = 36 000

60 000
=10 /
24 000
36 000
60 000
17—6

N o o b~ W N

57000

50200
90 000
33000
120 000
459 000
60 000
1254600

34200

152 000
24200
36 000
15000
40 000
210000
24000
535400

22800

233400
26 000
54000
18000
80000
249 000
36 000
719 200
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3560 15000 2060

352.42 35.69 349.13

"o " ow LI T] " ow " ow
LTS LI ”oow " w

"o ”ow ”









- 292 |




17—10
50

17—7
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180
17—7

160 000
90

160 000
50

180

90

200
800

88 000
72 000

17—7

88 000
72 000
160 000
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17—11
17—8
17—8
200 150 30 000 25000 55 000
3800 150 570 000 475 000 1045 000
4000 150 600 000 500 000 1100 000
17—8
— 55000
- 1045000
600 000
500 000
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1 2785000 2005 000 780 000
2. 1710 000 960 000 750 000
3. 245000 135000 110 000
4. 118 000 58 000 60 000
5. 1200 000 700 000 500 000
6. 520 000 300 000 220000
7. 65 000 65 000
8. 255000 160 000 95 000
360 000 200 000 160 000
700 000 420 000 280 000
7958 000 4938 000 3020 000
108 000 58 000 50 000
/ 73.69 85.14 60. 40
1
2. /
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3
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980 000
137 200
1500 000
290 000
500 000
305 000
50 000

150 000
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3912 200

3000
/ 1304.07
“ / ”
/ =
10000 1400
2000 1600 6 000
12 000 10 000 +1 400 +2 000 +1 600 +6 000 + 12

000 =33 000
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1 =0.072 1 =0.075
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1
2
17—12
30 000
40 000
4 6 100
~ 4x100
=40000 % 100 +6 x 100 — 10 900
_ 6x100
=40000 % 100 +6 x 100 ~ 24 900
= 30000 +16000 x 1+14% =52440
= 24000 +24000 x 1+14% =54720
3
4
5

24 000
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18—1

2000

150 000
3 000
1 000
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_ 150000 _
= 73000 =50 /

= 2000 x 50 = 100000

= 1000 x 50 = 50000

18—1

18—1

2000 50 100 000
1000 50 000

3

3000 50 150 000

— 100 000
— 50 000

150 000
18—2 14%

E— 14 000
E— 7000
21 000

18—8 189
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18—2

| . 317.

70 000 50 000 120 000

+3% 2100 1500 3600

250 000 150 000 400 000

+2% 5000 3000 8 000

35000 25000 60 000

+4% 1400 1000 2400

60 000 30 000 90 000

+5% 3000 1500 4500

415 000 255 000 670 000

11 500 7 000 18 500

210000 190 000 400 000

+2% 4200 3800 8 000

30000 15 000 45 000

- 2% - 600 - 300 - 900

655 000 460 000 1115000

15100 10500 25 600

18 000 12 000 30000

— 655 000
— 460 000
— 670 000
— 400 000

45 000
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400

30 000

184

12 000

15 100
10 500
18 500
8 000

12 000

18000
12000
30 000

30

12 000
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12 000

18—9
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18—5

8 000

14%

5000

4000

4 000
- 5.5%

1000

700

1120

18—3

8 000
8 000

1120
1120

5000
5000

4000
4000

3780
4000

220

1000
1000

700
700
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18—3
2001
8000 8000 | 8000
1120 9120 | 1120
5000 14120 5000
4000 18120 4000
3780 21900 3780
1000 22900 1000
700 23600 700
23600 0
23600 | 23600 9120 | 5000 | 8780 | 700
18—6
23 600
5900
2 600
3 300
_ 23600 _
~ 5900 =4

18—4

= 2600 x4 = 10400

=3300 x4 = 13200
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18—4

2600 10400

3300 13 200

5900 4 23600

— 10 400

— 13 200
— 23 600

18—8 189
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18—7

35 000
— 35000
35000
5 860

— 5860
— 5860
28 000

— 28 000
28 000

= 114 000 + 688 100 + 10 400 = 812 500
=57 000 +482 500 + 25200 = 564 700

= 35000 + 5860 + 28 000 = 68 860

_ 68 860 _
~ 812500 + 564 700 0.05

= 812500 x 0.05 = 40625
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= 564700 x 0.05 = 28235

18—5
X X
812 500 0.05 40 625
564 700 0.05 28 235
1377 200 0.05 68 860
- 40 625
— 28 235
- 68 860
” 18—8 18—9
1
18—8

10000
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10 000
10 000
60 000
60 000
60 000
14% 8 400
8400
8400
8 500
8 500
8500
15 000 7 000

22000
15000
7000
7200
7200
7200

4 606
4 606
22 400
22400
22 400
1500

1500
1500
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19—1
19—1
19—1
X X

100 000 60 000 70 000 230000

42 000 28 000 11 000 81 000

10500 8500 3000 22 000

25000 20000 15000 60 000

177 500 116 500 99 000 393 000

30 000 15000 10 000 55 000

147 500 101 500 89 000 338 000

3000 1000 1000 5000

800 000 500 000 300 000 1600 000

59.17 116. 50 99.00 78.60
0.18 0.20 0.30
= X
19—2 600
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3000 6 500
5 24000
3 500 1000 120 000
500 50 000 100
=3000 + 6 =500
=500 +5 = 100

500 x 24000 + 500 +100 = 20000
100 x 24000 + 500 +100 = 4000
= 3500 +20000 = 23500

= 1000 +4000 = 5000

= 23500 + 500 = 47 /

=5000 + 100 = 50 /

23500 - 500 +120000 =0.19 /
5000 - 100 +50000 =0.10 /




1
19—3
19—2
19—2
X X X X
8 000 500 800 50 40 000 2000 | 2500 0.31
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4000 200 600 30 18 000 900 | 1100 0.28
8000 600 800 75 60 000 3000 | 3600 0.45
1300 118000 | 0.05 59000 | 7200
2.
= X
= X
19—4

= 7200 + 40000 + 18 000 + 60 000
= 0.061 02 /

40 000 % 0.06102 = 2 440.8

=2440.8 +8000 =0.31

18 000 x 0.061 02 = 1 098. 36

=1098.36 +4000 =0.27

= 60000 x0.06102 = 3661.2
=3661.2 +8000 = 0.46
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19—5
25000 27 000
50 000
@ 35000 16 000 10 000
5000 4000
@) 2 4500
®
1000
19—3
193
25000 | 25000
16000 | 10000 | 5000 4000 | 35000
4500
1000
27500
16000 | 10000 | 5000 | 29000 | 60000 | 33000
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27000 | 27000
=25000 +35000 - 4500 - 1000 - 27000 = 27500
= 27500 +50000 = 0.55 /
+ -
+
= X
= X
19_6 “ ”
2000 61 000
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1000 2 000
100 500

_ 2000 +61000 - 1000 _

15000 + 500 =4
= 15000 x 4 = 60 000
=500 x4 = 2000
2~4 4
= + - -
= +
+ + -
= X
= X
= X
19—7 “ —2~4

180 000

15 000

2400



p 2.4 .
600 6 000 18 000 100 1500

6 000 2000 15000 48 000
2~4 1 000 20 000
1200 25 000 10 100 490

7000

= 180000 - 2400 = 177 600

_ 177 600
7000 +20000 + 25000 + 100 - 6000 - 1500 - 15000

=6 /

_ 18000 + 6000 + 48000 + 180 000 - 2400
7000 + 20000 + 25000

=4.8 /

= 4.8 x 20000 = 96 000
= 4.8 x 25000 = 120 000
=4.8 x7000 = 33600
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20—1 —

33 000 15000 8 000
10000
e e 15000
—_— —_— 8000
 — — 10 000
— —_— 33 000
2 5000
—_— —_— 5000
5000
3 500
 — — 500
500
4 1200
e e 1200
1200
5 6 000
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2000

30 000

30 000
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22—1
2000 000

22—2
400 000

22—3
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1500 000
100 000

30
400 000

3 900 000
3900 000

100 000
100 000

400 000
400 000
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300 000

22—4

22—5
20 10

1 200 000
1500 000
1500 000
90 000

90 000
90 000
30

= 3900 000 + 400 000 + 1500 000 + 90 000 - 100 000

= 5790000

_ 5790000
30

_ 5790000

x 20 = 3860000

x 10 = 1930000

3 860 000
1930000
5790 000
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600 000 250 000 100 000
150 000 100 000

" 250 000 350 000 “ —
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22—6

1 990

10% 20% 30% 40%
900 90

e 900 000
—_— 1800 000
— 2700 000
—_— 3 600 000

—_— 90 000
— 180 000
—_— 270000
—_— 360 000
—_— 9900 000
2 200 000

—_— 20 000
—_— 40 000
e 60 000
—_— 80 000
200 000
3 250 000
30 000 50 000
80 000 90 000
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—_— 30000
e 50 000
—_— 80 000
—_— 90 000
250 000
30

—_— 30 000
—_— 60 000
—_— 90 000
—_— 120 000
e 300 000
180 000

—_— 18 000
e 36 000
—_— 54 000
— 72000
180 000

570 200
370

—_— 2 000 000
—_— 3 700 000
— 5700 000

3 088 000 5 866 000

— 3 088 000

— 5 866 000
—_— —_— 3088 000
e 5 866 000
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3.
23—5
23—5
X 200 x 12

36 400 2737 2709 36 330

5096 384 380 5086

29 666 1365 1340 29220

14 287 665 650 14 306

20 750 1619 1772 21790

9150 6 980 702 9505

11820 930 915 11 390

5280 580 569 5942

5200 435 435 5250

11950 990 965 11 990

14 950 1253 1238 14 910

6 750 605 565 6 815

10 200 789 842 10 090

11550 1406 1120 13610

9 800 860 911 10935

11850 1599 1659 13911

214 699 23 197 16772 221080
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4.
23—6
23—6
X X 200x 12
92 880 5660 6 040 93 060
58 680 5108 5020 62 350
46 260 5690 5305 46 375
197 820 16 458 16 365 201 785
23—7
23—7
X X 200x 12
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Xo Yo Zo M, X Y, Z,
Ml - Mo
M, = X XY, x Z, 1
M, = X, XY, xZ, 2
M, = X, xY, XxZ, 3
M, = X, XY, xZ, 4
2 - 1 = M—M, X, X,
3 - 2 =M—M, Y, Y,
4 - 3 =M—M, Z, Z,
Ml'M3+M3'M2+M2'M0 :Ml'Mo
24—1
24—1
24—1
500 650
/ 10 9
/ 6 7
30000 40 950

40950 - 30000 = 10950

500 x 10 x 6 = 30000
650 x 10 x 6 = 39 000
650 x 9 x 6 = 35100
650 x 9 x 7 = 40950

A W N P
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2 - 1 =39000- 30000 =9000
3 - 2 =35100- 39000 = - 3900
4 - 3 =4090- 35100 =58%0
9000 - 3900 +5850 = 10950
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24—2 200 x ABCDE
24—2
24—2
X X 200 x X

A 170 | 740 | 720 | 690 | 125800 122 400 117 300

B 310 | 276 | 283 | 257 85560 87730 79670

C 180 | 115 | 109 96 20700 19620 17 280

232 060 229750 214 250

D 260 80 78 20800 20280

320 6 4.6 5 1920 1472 1600
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24—3
15892 6.31%
15 500 6. 75%
128 8. 70%

= x 100%

1
™M
—
X
—_
~—
[A—

= x 100%
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24—3 200 x
24—4 24—5
24—4
%
A 210 740 720 155 400 151 200 4200 2.7
B 386 276 283 106 536 109 238 - 2702 -2.54
C 360 115 109 41 400 39 240 2160 5.22
303336 299 678 3658 1.21
24—5
%
A 170 | 740 | 720 | 690 | 125800 | 122400 117300 | 8500 6.76
B 310 | 276 | 283 | 257 | 85560 | 87730 | 79670 | 5890 6.88
C 180 | 115 | 109 | 96 | 20700 | 19620 17280 | 3420 16.52
232060 | 229 750 | 214 250 | 17 810 7.67
24—4 24—5
= 17810 - 3658 = 14152
=7.67% - 1.21% = 6.46%
14 152
6. 46%
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1
243 10%
24—6
24—6
%
189 740 720 720 139860 136 080 136 080 3780 2.70
347.40 276 283 283 05882.40 | 98314.20 | 98314.20 | - 2431.80 | - 2.%4
324 115 109 109 37260 35316 35316 1944 5.22
273 002.40 |269 710.20 |269 710.20 3292.20 1.21
246 ABC 10%
3658 - 3292.2
0, FEwE Yevem . 0, 0,
10% e x100/o] 1.21%
-3( - ()
246
=36568 x 1—10% —3658 =- 365.8
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